Efficiency vs P,

~ 0.7
o

T R R SE—

> : : :

2 0.08F----rerirreraeanee RN & ARRERREERERN

Q : : :

(8] . . .

EO.O?—----------; ------------ AR AR

) : : :
0.06F-----r-r-eirmrmmeeenes [ RRRREEE S SRRREEREREEE
0,08 ++--vvvevieereeeeen AR A -
Y7 S— - A A B S
Y S S S {
Y — R A A S S

0.0

i

1.0

Ratio

o
©
a

=
o
iN

1

10 . Gedf’

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

=0.05
[2]
§.045
2
§0.04
Q
$9.035
3]
0.03
0.025
0.02
0.015
0.0
0.005

.............

............

............

.....

........................

.................

.........

Vs

Ratio
N
!IIII LB

0.95

Efficiency vs ¢

o 0.1
Y :
Z0.09F
Q :
20.08¢
o .
£0.07E
o :
0.06F;
0.05F
0.04F
0.03E
0.02f

0.01F -

........................

J..UG-.

Ratio

o

TP @




	Contents
	Page 1


